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37, Tt uRwe ¥, 99T a0 Aeeye aimded it smafy @ de e
In a half wave rectifier circuit, frequency of input and output waveform is related -

by

a.  fou =14

b, fou =24
c. fou=051,
d. fou = 4fin

TS Y FERr 3 et et Tl B A R o o7 SR R St &
To provide constant voltage, independent of load current variations, use

a. g/ Comparator

b, @S yadw / Voltage amplifier
c. awes i / Voltage regulator
d. swt/ Buffer

4 af, (PCB) fetret & st fivw s ot 3fz mil ...... 3 moe grar
Unit mil used in PCB designs is equal to

a. T ¥ %1.0% g at/ One thousandth of an inch
b. =% w ¥t One hundredth of an inch

C. s = o qgar / One tenth of an inch

d. k¥ 1 U 9f= af / One fifth of an inch

TR 5w S R T et et ) Ty o wftafnn O g s s

Comumonly used solder in electronics is a metal alloy made by combining
a. ferdmr/ Tin-Lead

b. < e/ [ron-Lead

c. f&—4m/ Tin-Iron

d. < afen / Iron-Copper

o R A aeda T @, T ST §

Voltage drop across a closed switch

a. @9 Y= / Nearly Zero

b. swier/ Infinite

c. ergwya e/ Applied voltage

d. 3w i & 91 7 / None of the above

i At e SMT wreent 3 Tl & ot % it aamar ¥

Which statement gives the advantage of using SMT components?

SMT =rz= #&it € / SMT components are expensive

SMT wresi =1 fereen it &/ Rework of SMT components is difficult

@ PCB 3t @ o s @esar 2 / Can be mounted on both sides of PCB

8 DI ST % € F FHreor gurer gReer g & / Difficult to handle as it is small
in size :

o o
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A, 7 i wrtawer #, PCB it oft, o1 § S=mr g, 39 ..., FEd 8

Coating that protects the PCB assembly from moisture, dust in harsh
environment

a. orffa / Conformal

b.  =flg/ Thermal

c. ai=nfer / formal

d. s/ Silkscreen

Tt PCB <7 s & fore e s foan S a1er 59 el
Liquid cleaner usually used for localized PCB cleaning
a. emdamge w¥e / Isopropyl acid

b. s swwER / [sopropyl alcohol

c. FmEmNtE e / [sopropanoic alcohol

d. erdEmtE uie / Isdpropanoic acid

it LAATEeN Yehl STt HIT Sl T4 Hidl &
Voltage stabilizer type which uses motor is
a. Ayee waifed / Manual operated

b. w@Enfaa fet / Automatic relay

c. wifis aiwew / Static Voltage

d. wet fRiBa / Servo controlled

afd Vp arg ot ot Rrerg seds 3 Y rms Jieest ... 8

If Vp is peak voltage of a sine wave then rms voltage will be

a. Vp/2
b. Vp/+2
c. Vp*/2
d. Vp/4

w0 e afenfier 3, wefies o (N1) aer egges = (N2) ... ¥ Heift B §
In a step down transformer primary turns (N1) and secondary turns (N2) are

related by '
a. NI>N2

b. NI<N2

c. NI=N2

d. el ¥ 9 = &/ None of the above

Hia gfre St § wah forn ST e Riedese .. BT 8

Electrolyte used in lead acid battery is

a. i segims (KOH) / Potassium Hydroxide (KOH)

b.  smeR gewies wiE ( H2S04) / Dilute Sulphuric Acid ( HS0,)
c. wgifue g (HCL) / Hydrochloric Acid (HCL)

d. sty foeem / Alkatine Solution
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Rating of a transformer is given in

a. KV
b. KA
c. KW
d. KVA

T vyl QT S e i sl . S d
Impedance of an ideal parallel resonance circuit is
a. w4er/ Infinite

b. s/ Zero

c. 1K ohms

d. 3w ¥ @ = 7 / None of the above

An inverter module in a power supply converts ’
a. ACe&DC /ACTODC
b. DCIAC /DCTO AC
c. AC¥AC /ACTOAC
d. DC&DC /DCTODC

e & fore geree & ELCBs &1y féar s &

ELCBs are mainly used in circuits for

a. = dleds 8g g / Protection against under voltage

b. e dledsr & g / Protection against over voltage
c. v ¥ fam & g / Protection against current leakage
d. < R @ gean / Protection against short circuit

af% we sttt i gmar 1000mAH 2 @ Rrfofes 3§ i aradt 2
If a battery has a capacity of 1000mAH, then which of the following is true

4. TWumH Fwamud |A G ghar
It can source 1A of current for one hour

b. e F fowamrdt 0.5A = = o g &
It can source 0.5A of current for two hour

C. U% 3N e % fow uwr 2A @l € owar
It can source 2A of current for half an hour

d. 3l wfr
All of the above

i g e oy ey 0.5 frefl s % 4 56t Sy oo At
If time period of a sine wave is 0.5 milliseconds then its frequency is

a. 20Hz

b. 200Hz

¢c. 20000Hz
d. 2000Hz
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Freafefia 111111110111110111 sl 31 Renart & srewmem 3 whafis SR
Convert the following number 111111110111110111 from binary to
hexadecimal ,

a. FDF10
b. 3F¥DF7
¢. FFE31

d. 1FED2

e 3-51gz AND Wi & 318 37ge Gurerard & d, LOW omee & 56 @ 6t fea dvwiomard s
el @
If a 3-input AND gate has eight input pOSSIbIlltleS how many of those .

possibilities will result in a LOW output?
1

o op

2
7
8

64 X 1 sigdar = Fearrm o fmm 2 x 1 agmaﬁzﬁramwaﬁnm

Number of 2 x | Multiplexers are required to implement 64 x 1 Multlplexers
a. 60

b. 61

c. 62

d. 63

forr 3 @ R e v g of v w1 Bt R s o &

A full adder can be implemented by the following gates
a. 2XOR,2AND,10R

b. 2XOR,20R,1AND

c. [XOR,2O0R,2AND

d. 2XOR,20R,2 AND

TEH € F Tt fed-gei §7 .

Which of the following is a universal Flipflop?
& freg-wae / T Flip flop

1%, feerg-weits / JK Flip Flop

2. fer-wer / D Flip Flop

w1, fd-ve / SR Flip Flop

R L=

U& SR fierm-wii & fore weam anoft f R S ofyfy 39
The truth table for an SR flip flop has how many valid entries?
3 :

e o

2
4
1
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[=VRI I

wh et bt et Rt e T Tl =6t o @ Bee e 9t % T gl
Shifting a register content to left by one bit position is equivalent to

a. @ ¥wm/ Division by two.

b. & siew/ Addition by two.

c.” SR IEm &/ Multiplication by two

d. ¥ =em/ Subtraction by two,

o et a3 5 e srqeorpifores st 32

How many different states does a 5-bit asynchronous counter have?
a, 4

b. 32

c. 16

d. 8

8051 grr darierd s T T ..o, gt

The number of interrupts that can be handled by 8051
a 3

b. 4

c. 5

d 6

siof 8051 =t g wanfta Formm mm wd EA w3 gt (HIGH) ® , @Y wommesammeememem- J o W
T HT T FE T T

When the 8051 is reset and the EA line is HIGH, the program counter points to
the first program instruction in the:

a. @ e aut / external code memory

b. wifdfie s 49/ internal data memory

¢. g e imi / external data memory

d. wifafes = i/ internal code memory

Frefafes & @ @@ @dg (CPU) % & wig oz § 7

Which of the following are the two main components of the CPU?
Tt gfz wd dsftem / control unit and registers

defta we e Al / registers and main memory

frekror gfe wd ALU/ control unit and ALU

ALU @ sw/ ALU and bus

A Microsoft Windows is ....

a, s wmeft / Operating system
b.  Tifks giwm / Graphic program

c. 38 ymfdn/ Word Processing

d. er=ewwum / Database program
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Frerferiiaa # & M HIgsHIETTE R ¥ Teleg § 7
Which among following is associated with Microsoft Excel 7
a. s W / Graphic program

b, =2 waw/ Word Processor
c, ST/ VPresentation
d. ®exfiz/ Spreadsheet

e ofterdt fortee et g ... ?

The linear variable differential transformer transducer is
a. dufe gluggec/ Capacitive fransducer

b. -y gimeae / Non-inductive transducer

c. Wk ghuggat/ Inductive transducer

d. Rt glagee / Resistive transducer

PT-100 w @fmm RTD # R 0° . oo wfedrr 100Q 1 af s w1 sfder qom s
3.9X 10 %/ °C#, @ 10° 3. o 3w whdty 1 var e

PT-100 is a Platinum RTD whose resistance at 0° C is 100€2. If the resistance
temperature co-efficient of Platinum is 3.9 X 10 37 °C, then find its resistance at
10°C

a. 1390

b. 1039Q

c. 610

d 9618

Trerfafian el O @ Si-ar wer g 76 87

Which of the following statement 1s not correct?
a. wh Sieerier § arfy sow el S =l

Voltmeter should have a very high resistance
b,  wm Wite # arfy e v S fse

An ammeter should have a very low resistance
c. U e H ke faey wfady gk =iy

A shunt should have a very low tesistance
d,  TF S dieeHied i 8 gET 9 o g

An electronic voltmeter draws appreciable current from source
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The voltmeter reading in the circuit is

10G ka
AN

v O

a. SV

b. 0V

c.. 1V

d 2.5V

g3 (SCR) e Bl 2
SCR is

a. . fafims urdfeet / Unidirectional thyristor
b. k- stwE urfee / Uni-junction thyristor
c. fg-Rfim affer / Bidirectional thyristor

d. fi— st emgfeex / Bi-junction thyristor

faferfiaa et & & w-ar u wd i &7

Which of the following statement is not correct?

a. TRIAC w= fi-Rfiss SCR 2/ TRIAC is a bidirectional SCR

b. TRIAC wwwr wa sww 8/ TRIAC is a four layer device
TRIAC & Tt # wenfer 78t & wehar § / TRIAC cannot conduct in both
directions

d. TRIAC = 3 zffa swewm 8/ TRIAC is a 3 terminal device

gl MOSFET ...... e ITH BT §
Power MOSFET is device
a. wm fEBa e / Current controlled bipolar

b. uw e o gt/ Current controlled unipolar
c. drees Frif f-yht / Voltage controlled bipolar
d. <rees Frifia e - gt / Voltage controlled unipolar

Tapet Sterer giforee 3 wiet § Frafrfiad <o W 8
The following statement is true in case of bipolar junction transistor

a, T oy U AT @ it @ @

Collector current is greater than emitter current

b, 3k an e am & o di &
Base current is greater than emitter current

C. Hog gAY U S0 wel §

Collector current is smaller is smaller than base current

d. =9 gr 39T Uhet W ot T ¥ #H Bl

Base current is smaller than both emitter and collector current

3
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eo =

CE&am, oo % s wF BT 3 steqe sifbrersmon o1 amt@or B siar
In CE configuration, the output characteristics of a BIT is drawn between
a. Jeand Veg

b IE andVCB
C. Ic EdeCE
d IE and ch
ST Hoa SraTe S AT o Hahell o ST B A % fow e siar @

Digital storage oscilloscope is used to measure amplitude of signals
a. sgEshiE / Sinusoidal

b. Bt/ Triangular

c. HwEd/ Saw tooth

d. 3wtw adl/ All the above

TIFT & BT BN F we g wrant ... o ST _
The charge of the body after losing electron becomes
a. TS w9 ¥ AEfia / Negatively charged

b.  uAenE w9 9 wmafda / Positively charged
c. aedia v & fewifa / Electrically neutral
d. aules & @ =i e/ None of the above
SRR} -4 T e ghem ..., 8
Input impedance of ideal op-amp is
a. s/ Unity

sEEd / Infinite

=/ Zeto

100

FeATeifaa affa-ua afwe fomr ..., H|

a, wgmeReH / Integrator

b. fades / Differentiator

c. dres wgERh / Voltage follower

d. fawd yae= / Differential amplifier
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| A
U g genfad aferr dar ¥ e wees S i L e 2

An optocoupler is an integrated circuit consists of in the same
package

a.  LED dasftwsmis/ LED and zener diode

b. LCD w MOSFET/ LCD and MOSFET

¢. SCR wisme/ SCR and Diode

d. LED wwersrie/ LED and photo diode

Fretferfiae aftwer ?
The following circuit is

iR/ Clamper

a
b. e/ Clipper

c. frme / Regulator

d. wad® / amplifiers

Ty wleaer a1 wmger whoker L., Bk

A
1k&2
4kQ
250€2
200

e oo

zifsreer § it & fefia 8w REGIR
Heat Sinks in Transistors reduce the

a. gifereer 9t / Transistor Power

b, gfer arme / Ambient Temperature

¢. s@E e / Junction Temperature

d. = am/ Collector current

10
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Frefafaa § @ w4 ar iy a9 (positive) Freds w1 s wom|
Which of the following circuit employs positive feedback

a, fewart/ Rectifiers
b. &f&=/ Oscillators
c. W= / Amplifiers
d. =/ Filters

Ffaiad weror a8 wlb, R it o e sfimor @ T % e el e (fEg) @
T BT

Which of the following transmission line use outer conductor (braid) for
avoiding radiation loss and external interference?

d. @/ Fibre

b, wmne R / Twisted wires
¢. ¥emenr dg/ Coaxial cable
d. wwdg/ Open-wite

o 21l Teadh foraor womelt % foTg ST w9 H IRRR TR0 A .. 2
Most widely used transmission line for Cable TV network distribution system is

a.  wsa qq/ Single wire

b. gem=m g/ Twisted wire
c. g/ Fibre

d. @y Ffre / Coaxial cable
FM stfipmiet 5, amam ...

In FM receivers, amplitude limiter

a. T W dadl @ gt war g
Amplifies the low level signals

b, FrwR & okl o iy
Attenuates the low level signals

c. P wkdl & et afterdT ) fere dar )
Eliminates any change in signal amplitudé

d. I e
All the above

AT HTGE AFSHT T IR Ager H a1 .o, e d

The Disadvantage of Frequency Modulation over Amplitude Modulation scheme
is --—-.

8. oo G eha S TR §

High modulating signal is required
b, 3w amEe Hha Y TR |

High carrier signal is required
c. WIHEE

Noise is high
d.  soem e fere i aATawrwar §

Larger bandwidth is required

11
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Power Amplifier circuit is essential in

a. bmrEt/ Receivers

b, wgat / Modulators

c. W/ Transmitters

d. ¥ga=/ Detectors

YIRS B HTT cvovvrecrrviriran, ST o ae i a2
Optical fibre cable operates near ----------- frequency.
a. 80GHz

b. 800 MHz

¢. 800THz

d. 80KHz

I HTC b e H HIe S & € 1 06 T, ....... i
Major advantage of Fibre Optic Communications compared to line
communication is

a. s fawm / More Bandwidth
b. e =l / More Interference
c. @nra/ Cost
d. weam wr &fd / Higher power loss
F ey EEIE. ... Bt BT & S Femn Al aa ... s SREfy e S 2
An ideal diode presents ~-nmee-ce- when reverse biased and -------- when forward
biased.
a. war, we / Open, Short
b. wd, gen/ Short, Open
c. g, @/ Open,Open
d. we, wé / Short, Short
) L
T T QI .o B

A coupling capacitor is

& DC i/ a DC short
w AC g/ a AC open
@ DCgan e ACwd / a DC open and AC short
@ DC wié @ AC gen / 2 DC short and AC open

e o

12
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U Sedsich TR0l Aees afe 19 ..., &relt B
An emitter follower has a voltage gain that is
a. l¥%w/Lessthan 1

b, 10 @ 18 / Greater than 10

c. 1% e/ Greater than 1

d. s/ Zero

e Rl RIeTeh % SR 3 A o var ey R Rt e, e, g, g aid F o e q),
The resistance value of a carbon resistor having red, black, green and silver color
bands is ...

2M ohms +/- 10%

20M ohms +/- 10%

200M ohms +/- 10%
. 20M ohms +- 5%

12
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